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Friday – Factor Pairs
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True or false? The calculation is True or false? The calculation is

correct. correct.
5 & 6 3
X 7 X 8
3 5 4 5 0 4
4 2
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Tony cycles 32 miles a day for 7 days
and Steve cycles 36 miles for 5 days. Who
cycled the furthest?

(x ) (x )
(x ) (x )

Show your working using the expanded
method.
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True or false? The calculation below
has been worked out correctly.

| Hundreds [ Tens | Ones |

]

8 2 4
X 2
8 (4x2)
6 0 (20x2)
1 6 0 0 (800x2)
1 6 6 8

True or false? The calculation below
has been worked out correctly.

-Mﬁ
6 4 1
X 2

2 (1x2)

8 0 (40x2)

1 2 0 0 (600x2)

1 2 8 2
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Complete the calculation.

| _Hundreds [ Tens [Ones]

Complete the calculation.

[ Hundreds [ Tens [ Ones |
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Complete the calculation below. Complete the calculation below.
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Add the missing digits to the
calculation below so that all exchanges

are even.
6 D 4

X 7

D 4 3

2
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True or false? 25 +2=11r2

10
o o0 ()

True or false? 38 + 3 =13 r1
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True orfalse? 46 +4=11r2

A
00 °

True or false? 49 +4=13r1
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Match the calculation to the correct Match the calculation to the correct

answer. answer.
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Divide the following number by the
numbers on the digit cards.

83

10 10 10 1011
10 10 10 10 (1

8] (3] [7) (8] [4]

Which calculations give a remainder
greater than 4?
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Add the missing place value counters Add the missing place value counters
to divide six hundred and thirty nine by to divide eight hundred and forty eight by
three. four.

Use short division to show your Use short division to show your
calculations. calculations.
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Use place value counters to divide Use place value counters to divide
the amount below by 3. the amount below by 4.

Record your calculations using the short Record your calculations using the short
division method. division method.
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Add the symbol <, > or = to make Add the symbol <, > or = to make
the following statement correct. the following statement correct.
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Mary says,

Four hundred and fifty-
nine divided

by nine equails fifty-one

remainder two.

Is she correct? Convince me.
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Complete the factor crab. Complete the factor crab.
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Draw lines to match the factor pairs. Draw lines to match the factor pairs.

Factor pairs of 24 Factor pairs of 28

14
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Explore methodically the factors of Explore methodically the factors of
72. 72 84.
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Razia says,

All numbers have
an even number of
factor pairs.

Is Razia correct? Prove it.
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Which representation matches the Which representation matches the
calculation? calculation?
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True or false? The calculation is True or false? The calculation is

correct. correct.
4 2 2 3
X 6 X 8
1 2 (6x2) 2 4 (8x3)
2 4 0 (6x40) 2 4 0 (8x20)
2 5 2 2 6 4




